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R EEIERIE

Modbus &

SR ARBB(Binary _# )

* BEIEERR: XER20REHIR ; SPRIRSIEHIER ; DIZREEER ; OPRIEFIRNENEIR ,; RYSESS 2020/08/28
arie | Modbus High byte Low byte
firtl: | fIZHE [RW[ bit7 | bit6 | bits | bit4 | bit3 | bit2 | bitl | bit0 | bit7 | bit6 | bits | bita | bit3 | bit2 | bitl | bit0
O-mi 0000=1E%
OO 40001 = 0 1=FAi% 00-0000 0000 0010=38F SENSOR#FE(SE)
. 0=Fg#% 1=XE 0100=#ESENSOR&I[Z(hE)
SR | 0 | gl O 7 0000 1000= B 5 #7538 (PE)
40002 0-0001= 2%
0-0010= BRi%
01 HH 0000-0000 000 00100~ 5
i 0-1000= ¥
[ 1-0000= B8}
1=§§7] 000—0001=%13$(5%)
02 40003 s 0000-0000 ~001-0100=25203%(100%)
R 0=F8! (Step 5%)
i} 00-0000= ;BEEMBIEE - 0000= REEREE
0= 0=
03 40004 B E 0 00-0001= BERIFE0.1°C(step0.1°C) ! 000 0000=RE A IEE1%(stepl%)
1=8% ~11-1100= ;BEKIEE6.0°C(step0.1°C)  |1=BH ~1111=RERIEE15%(stepl%)
04 40005 - 0000 000-0000-0000 ~ 100-1110-0010
Thi-aw i = SRE(EH1E 0.0 ~ 125.0 °C (step 0.1°C)
05 40006 ey = 000-0 000-0000-0000 ~ 100-1011-0000
et T1-an i = RERLEE 0.0 ~ 120.0 °C (step 0.1°C)
O 6 40007 —_— 0=IE2I| 000-0000= &EEERE LBR(-30~120°C)f& 0°C(step 1°C)  [0=IEE([ 000-0000= &R TE FBR(-50~100°C)& 0°C(step 1°C)
e T —agg| ~111-1000= 3B AR E FFB(-30~120°C){E 120°C(step 1°C) | 1= % | ~110-0100= B R = FFR(-50~100°C)f& 100°C(step 1°C)
0= 0= 0= 0= 0= 0=
40008 N OP3 OFF| OP2 OFF| OP1 OFF| DI OFF RY5 OFF [RY4 OFF
07 L 0000 S P O O 000 N 000
OP3 ON [OP2 ON |OP1 ON | DI ON RY5 ON [RY4 ON
40009 3 PR 0000-111055143%(70%) A3 TR 0000-00015513%(5%)
08 E L ~0001-010025203(100%) ~0000-101125113%(55%)
(step 5%) (step 5%)
09 40010 Ui B #2883 = 0000-0000-0000-0000 ( 0 rpm) ~ 0000-0100-1011-0000 (1200 rpm)
40011 - O=MRSH | 0=ARSH | O=PAREH | O=FRRSH |O=FRSH |O=MRsK
0A #El 0 O |1-SPB8 |1=5PB | 1=5Ps& |1=sP@ |1=5Pi |1=5PBE 0000-0000
0=#&
0B 40012 . fs=se 0001-0100= R HIE(20~90% step 1%) 20%
Gl P 000-0000 ~0101-1010=REEAIE(Q20~90% step 1%) 90%
RES/R
0C 40013 - 0000-0000 0001-0100= R &7 1E(20~90% step 1%) 20%
~0101-1010=3RE R EE(20~90% step 1%) 90%
00=
oD|40014| | 001=E— 0-0000=00/):F% AR AIMER 00-0000=00%)$%
Rl 1112 1. - = 01= ~11-1011=59%
- 111=#H 1-0111=23/\fF P 0 597 #&
OF 40015 | = 0000-0000 0000-0000~0000-1111=EER Bl &1~ 16 B AL
H BREIZI5E] ~ 165 AN E /B BRBEIEL1~ 16 E AR HRNERE- 78
B OO:ErrOrﬁﬁlﬂﬁiﬂ% 0000 0000 0001=3@RLIRER 0010 SRERCRIZEAE  1000=SPERF %
OF 40016 2 g?_;éigiml) 01=FRRAM/SHE 0000 o ;12";3 =S = Pﬂ | %é’f éﬁ:é;gﬁg
2 10=MODBUS O:5§$§;$§iﬁﬂ]}ﬁ OOOO OOO - fér?; 0-0100= = RS
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